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.mitirq izz ipy '` sirql .'a sirqe '` sirq oia xyw oi` dl`ya (2
('wp 30) (`

xy`k V (a) = Span({v1, v2, v3}) ici lr C lrn ixehwe agxn oezp .akexn xhnxt a `di
.v1 = (a, a, a), v2 = (1, a2, 1), v3 = (4a, 1, a3)

oey`x wlg •
.V (a) = C3 miiwzn mxeara a xhnxtd ly mikxrd lk z` e`vn (15)
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ipy wlg •
.(4a, 4a, a2) ∈ V (a) miiwzn mxeara a xhnxtd ly mikxrd lk z` e`vn (15)
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mixai` ipy oa dcyd lrn zeix`pil zekxrn ly xzeia dxvw dniyx e`vn ('wp 10) (a
zkxrnl dlewy ze`eeyn yelye minlrp ipy mr F2 lrn zipbened zkxrn lky jk F2
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zecewp 10- a dkfn dpekp daeyz .ze`ad zel`ydn zg` lka oekp cg` sirq exga df wlga

lrn Ax = 0 zipbenedd zkxrnd ly zepexztd agxn U `die A ∈ M3x3(R) idz (3
? oekp zeidl leki mi`adn in .rank(A) = 1 ik reci .R

U = R3 (`) •
U = {(2a, 2b, c) : a, b, c ∈ R} (a) •

U = {(1 + a, 2 + 2a, c) : a, c ∈ R} (b) •
U = {(2a, a, 0) : a ∈ R} (c) •

C lrn C2 ly miagxn izz e`vin ze`ad zeveawd oian (4

U = {(a, b) : a, b ∈ C, a2 − b2 = 0} (`) •
U = {(2a− 1, 4a− 2) : a ∈ R} (a) •

U = {(a, b) : (a− b)3 = 0, a, b ∈ C} (b) •
miizy xcqn zeakexnd zeireaixd zevixhnd zexey lk z` llek U (c) •

.dcigid zvixhnl dxey zelewyy


